Semester 2 Review.notebook May 22, 2017

Revicw:

1.  Temperature is a measure of the energy

of the molecules in a sample.
2. A gas exerts pressure on its container because the molecules
with the walls.
3.  According to the assumptions of KMT...
The molecules of an ideal gas are in constant, motion.

The molecules of an ideal gas have no

Collisions in an ideal gas are completely
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There are no attractive or repulsive in an ideal gas.
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Complete the chart below:

Relationship Pressure Volume Temperature # of moles
increases constant constant
increases constant constant
constant increases constant

constant constant increases
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Complete the chart below:

Relationship Pressure Volume Temperature # of moles
d\.f ((A- increases constant ’r constant
V\d] e ( 4‘— increases dx constant constant
d( {4 constant »~ increases constant
constant constant increases
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Review:

Use the graph to answer the following questions:

Temperature

Timme

4. What letter represents the melting point?

5. What letter represents the substance in the gaseous phase?

6. Write the equation for the process happening as you move from C - B -A.
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Use the graph to answer the following questions:

Temperature

Time

4. What letter re@sents the melting point?

5. What letter represents the substance in the gaseous phase?

E

6. Write the equation for the process ha S ening as you move from C - B -A.

-sze},,-ﬁ /- Hx0(2) = H20(6)
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7. What are the conditions for STP?

8. Calculate the volume of 5 moles of a gas at STP.

9. How many grams of H, gas are in a 10.0 L container at 2.00 atm and 30°C?
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7. What are the conditions for STP?

933 14/ (ﬂ:""\
8. Calculate the volume of 5 moles of a gas at STP. ( ’ V - 5 ’ O,%Q'WB

< = |
;VM?MW D= G ogalka V=12,
v=?2 L T=3FRBk V= UL

9. How many grams of H, gas are in a 10.0 L container at 2.00 atm and 30°C§

0

PV=nRT R=00p3|2bn = Goutmoly X —r

Pzaatm T230°C‘l'2f73“303/; | ool Han
V=100  3.)0=n-0.0831-20% | = [.blgH,

n~?mD\—)7}Q_~ n- 19

41 ’?‘%
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10. A sample of 5.0 g of copper was heated from 20°C to 80°C. How much
energy was used to heat Cu? (Specific heat capacity of Cu is 0.092 callg

OC)
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10. A sample of 5.0 g of copper was heated from 20°C to 80°C. How much
energy was used to heat Cu? (Specific heat capacity of Cu is 0.092 sal/g

°C) ,)
Ct-.: M CAT
Q> 5090 .00
=77 1
M5 Oﬂ L’ 27 U\]j
C= 0.0%&379-44,
A= boC
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11. Calculate the AH°,,, using the chemical equation and AH° values
below.

NaOH(s) + HCI(g) > NaCl(s) + H,0(g)
AH®, (NaOH(s)) = -426.7 kJ/mol
AH?®, (HCI(g)) = -92.3 kJ/mol
AH®, (NaCl(s)) = -411.0 kJ/mol
AH®, (H,0(g)) = -241.8 kJ/mol
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11. Calculate the AH°,,, using the chemical equation and AH’ values

below.
NaOH(s) + HCI(g) ----NaCl(s) + H,0(g)

AH®, (NaOH(s)) = -426.7 kJ/mol

AH°, (HCI(g)) = -92.3 kJ/mol 'FVW\V\C{'S - Yavinnts

~ AH°, (NaCl(s)) = -411.0 kJ/mol
— AH®, (H,0(g)) = -241.8 kJ/mol

Euruo T (@418)\ - ):—L&tew(@g)

924 =" (-97) Ll%ﬁ w@/
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12. Determine if the following are exothermic or endothermic.
+AH

a.

b. -AH

c. H,0(l) --> H,0(9g)
d. H,0(l) --> H,0(s)
e
f.

. 2H,0,(1) --> 2H,0(l) + 0,(g) + 200kJ
2 N,O; (g) + 110 kJ --> 4NO,(g) + O,(9)
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4
12. Determine if the following are exothermic or end&hermic.

a. +AH endo

b. -AH Y90

c. H0()) --> H,0(9) end0
d. H,0(l) > H,0(s) exo
e
f.

. 2H,0,(1) --> 2H,0(1) + O,(g) + 200kJ evp
2 N,O; (g) + 110 kJ --> 4NO,(g) + O,(9) endo
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Review:

13. In a household radiator, 1000. g of steam at 100.°C condenses (changes
from gas to liquid). How much heat is released? (AH,,,= 40.6 kJ/mol)
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Review: D

13. In a household radiator, 1000. g of steam at 100.°C condenses (changes
from gas to liquid). How much heat is released? (AH,,,= 40.6 kd/mol)

DY, \ mol Ho0 y 0ok
OHan \53“a0 | mol H o\La }%KJT

H=2Ax]|=2
(): l X Ib=1b
18w
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14. Predict the sign of entropy for the following reactions:

a. CIF(g) + F,(g) --> CIF; (9)

b. NH;(g) --> NH;(aq)

c. CH,OH(l) --> CH,OH(aq)

d. 4NH,(g) + 50,(g) --> 4NO(g) + 6H,0(g)

Review: ..
\ ¢ ,Mr ’b‘«' Hmﬁﬂ%

14. Predict thT:S|gn of entrfpy for the following reactions:
a. CW%»+2mr»cm=m)-—LS

b. NHy(g) --> NHy(aq) — Ag

Gef< YR
c. CH,OH(l) --> CH,OH(aq)
+AS
d. 4NH,(g) + 50,(g) --> 4NO(g) + 6H,0(9)
M) 10 mol
+D°
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